GROUP E

NOTE:

HOSES (IIN 14)

INTAKE

ROUTED TO LAY ON

I/N 30.

MANIFOLD

IIB"

“))-' 4‘? Wy

= |— ASSEMBLY
P/N OF8274

ENGINE HARNESS

CONNECT TO

INTAKE

IMPORTANT

(=]

=

o

5]

=

<

=

5zZ

az0Z

T = f
nKEEQU
>5=s=zF2
oaQa32
Qno<
C1=gE2
Z2ZJ0o<g
mﬁn:nu.-
SpZEl
HhZET O

Revision: CN-0026967-F

Date: 5/30/19

Exploded View : EV FUEL SYSTEM 6.8L NG/LPV CPL

Drawing No. : 0J1705

Page 1 of 2



EXPLODED VIEW: EV FUEL SYSTEM 6.8L NG/LPV CPL

DRAWING #: 0J1705
APPLICABLE TO:

GROUP E

ITEM PARTH# QTY. DESCRIPTION

1 G049721 4 SCREW HHC M6-1.0 X 35 G8.8 BLK

2 G075580 1 FLANGE FUEL INLET

3 0G9189A 1 REG ASSY 6.8L 70KW LPV CPL
0G9189B 1 REG ASSY 6.8L 70KW NG CPL

4 (G039253 2 SCREW HHC M8-1.25 X 20 G8.8

5 G022145 2 WASHER FLAT 5/16-M8 ZINC

6 G022129 2 WASHER LOCK M8-5/16

7 G045771 2 NUT HEX M8-1.25 G8 CLEAR ZINC

8 (G042568 2 SCREW HHC M6-1.0 X 20 G8.8

9 0H5476 1 HARN FUEL JUMPER SINGLE REG

10 (026812 2 ELBOW 90D 3/4ANPT

11 0F8379 1 NIPPLE PIPE 3/4NPT X 7

12 0D2698 1 GASKET ADAPTER THROT BODY

13 G057823 4 CLAMP HOSE #10 .56-1.06

14 G059057 2 HOSE 3/4 ID SAE-30R2 (38.5" LG)

15 (G049811 2 WASHER FLAT M6

18 0J7476 1 ADAPTOR THROTTLE BODY

19 0E4390 1 GASKET, GOVERNOR ACTUATOR

20 0E4392 1 ACTUATOR BOSCH 60, GOVERNOR

21 0F0960 1 REDUCER 3.0" TO 2.75" TURBO

22 0F3885 1 MIXER, 40/60MM ACTUATOR ASSY

23 0G3167 2 O-RING 2-3/4 X 3/32 X 2-15/16

24 0F3691B 1 VENTURI, THROTTLE 36MM

25 026073A 1 PLUG STD PIPE 1/4 STEEL SQ HD

26 0D2157 4 SCREW SHC M6-1.0 X 50 C8.8

27 G039294 2 CLAMP HOSE #44 2.31-3.25

28 G022097 10 WASHER LOCK M6-1/4

29 G026915 2 NIPPLE CLOSE 3/4 X 1.375

(1)30 0G46350STOR 1 BRACKET, HOSE RISER
31 0L5884 1 LUG PLASTIC 0.75 TAPERED CAP

NOTES (UNLESS OTHERWISE SPECIFIED):
(1) SHEET METAL PARTS LISTED IN THE BOM TABLE, PRIOR TO 1/1/16, ARE REPRESENTING GENERIC
PARTS (NO COLOR):
* MANUFACTURING: FOR CORRECT MATERIAL AND COLOR REFER TO SAP BOM.
+ CUSTOMER: WHEN ORDERING REPLACEMENT PARTS ENTER BASE NUMBER (FIRST 6 DIGITS ONLY)
IN THE SYSTEM FOR CORRECT MATERIAL AND COLOR (FOR REFERENCE SEE GUIDELINE 0H7169).

REVISION: CN-0026967-F
DATE: 5/31/2019

PAGE 2 OF 2



